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Sl. No.1
QBID:1555021

Choose the correctly spelt word.
(1) Defalcation

(2) Difaleation

(3) Defalcasion

(4) Defalcatation
e # deve e &
(1) mF

(2) &

(3) =

(4) 99

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Onee on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
) C.A.D.B
(2) B.A.D.C
3) B.C.A.D
(a) C.D.B.A

1 g1 P ST MU §: U SHMUBYT (Assertion A) & F9 H [ARIT 8 ol GIRT 3HD BRUI (Reason R) P Y :
YT A ; SPRIA U0 W ERITE |

PRUIR : Al THT G 8 | $S Usa 3UdIE Bid 6. SUITAE sPRId old g¢ 1 - W el 8 |
IRIFT Py & 3Tl B, 1 U Y [dedl & 4 9ad Iuged 3wk &1 994 FIfo |

(1) ASRREH TgI g AR R. A DI el IR ©

() A SRR T AR, AT GEl URa S 2

(3) ATEIE AT R IS AT

4 ATSI TR e AFIR TS T

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.
(1) We went to the station to see them off.




(2) We went to the station to see them out.
(3) We went to the station to goodbye them.

(4) We went to the station to say them goodbye.
#1931 FuH feu U § U SHfUFUT (Assertion A) F w9 ¥ ffEd § o gEU 99F SR (Reason R) ¥ 79 &

iy A - T T svEfem &

FRU R : o7 3@RiE e & | Ofd 3 o@Ria e I TR eid © |

SUIEd $YUA & e H, 9 fou 7Y fasedi § ¥ wed Suged ST B 907 S
(1) A SRR S 981 ¢ SR R, A # 961 e &

(2) A IR R EHE 9 E AfeT R, A &1 98 amem A6 &

(3) ATEI R AfFT R W T 2

(4) ATE TE eI R 6 2

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List IT

List I (Wood) List IT (Synonym)}
A pervasive I filter
B |sieve II.  widespread
C. |potent IIT.  netting
D. lmesh IV, |powerful

Choose the correct answer from the options given below :
(1) A-IL B-I. C-IV, D-III
(2) A-IV, B-III, C-II, D-I
(3) A-IV, B-L. C-III, D-II
(4) Al B-I, C-II, D-IV

il 1 1Y Gl 11 BT HEH Bieig

TqH 1 T 11
A [PFR g1 1. [=iifd e
B. [&&del ol 1 |[YRT 379 3 ST
C. [P GoAl 111 [fersl & SRIN WX AT
D. [doell el el [IV. [HE Ja o

i feu e fosedi ° O Hel STk &1 99 Sifole:
(1) A-IL, B-IIL, C-IV, D-I

(2) A-IIL, B-IV, C-I, D-II

(3) A-IV, B-L C-IL, D-III

(4) A-L B-IL C-IIL, D-IV

1[Option ID=19277]

2[Option ID=19278]

3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

AT P ag A S TR § 7

(1) FfE og

(2) R o1g

(3) WA

(4) ¥g= UG

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

MY TEsim R aa T E 2

(1) &= o siwia g9 781 © |

(2) 5pa § o ST S99 A5 7 |

(3) TiSaaRE® AFRia Yfeek I9g 9ga=- § fFa ol 71 & |
(4) &= usRia g damsit &7 agae- o9 & Y T 6 WH WS W E
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Tdentify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fore oare #1 3R srifd sifm g Wy §1, 59 0%y 99 #6d § | S9Td 9610 g |

A, afgmEs

B. &&0mgul

C. 9giés

D. Samm

E. sma=
2 g Ty el # & w99 Iuged SR &1 909 S
(1) HIdA. B, D
(2) #3a B, C.D
(3) Haa C. A. B
(4) ®@a D, E. C
1[Option ID=19289]
2[Option ID=19290]

3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
QBID:1555028

Which of the following is a one-word substitute for "safe to drink’ ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

W §9 WeE #1 ¥ P gafuard wes & 2
(1) A4

(2) A=

(3) =i

(4) TwE=

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under
(2) below
(3) above
(4) beneath

ot s T 2 -

A, TR
B. =

C. TuER
D. ¥&6

E. ¥=ia

i oy 7Ty fowedl § & US9 S9gEd STR $1 TG BT
(1) HIWA, B, C
(2) ¥9U B, C.D

3) @@ C.D. E
(4) ¥a0 A.D.E

1[Option ID=19297]
2[Option ID=19298]




3[Option ID=19299]
4[Option ID=19300]

Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

T T &1 =90 S |

(1) YdF BE B GEAT S & |

(2) 1 & S FHE B

(3) Td® 1 & GEAT S 2T |

(4) BHE S WS g1 & &l |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy erisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

i1 & snfdie Heve ud Ieiae e & s didet &1 =01 yursE fod e fearman g

() Fare R

@ e famaly

(3) Hig=IIeTE

(4) TCTEl IS8

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Sulubu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

e & Upufd #1 9g HR Tg0 Y ardl o Afge ok g nfiet aggm § 3W 9 WeR vy 99 ard died st e a1 2

(1) =nfiEn g 5554
(2) apmd et
(3) Tl fbfrhl

(4) WEdl-a& Fog
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213




India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in :
(1) India

(2) China

3) UAE.

(4) Egypt

ST YT TIE ¥R des $Y 2022 H URd A UYH I U1 a1, et siie o gl ol :
(1) HIXc

@) FH

@ 708

@ oy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Rafael Nadal

(4) Roger Federer

I # i et e % 793 Shn # Y o & Uea (are S ey uiar ?
(1) e R

(2) Ere weiide

(3) el STd

(4) IR BEW

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

4) 8.5%

fyien Fiaram 5R1 wgd g e 2022-23 F HgER 91 o @1 et 9fE &1 sgam e R 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216




All the intellectuals are very emotional, because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A.D Ounly
(2) B. C Ouly
3) C. E Only
(4) D.E Ouly

IR gf&uidt agd U T ¢, #iie

A, T S g o E
B. 7 aifée umft € |
C. g mifirfia ol & o
D. derfA=s T |

E 399t |
i oy 7Ty foeedt § & ed SUgEd ST S 90T S
(1) FT@A.D
(2) ¥@@B. C

(3) Fa@C.E
(4) F@@WD, E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A. B, C only
(2) A and C only
3) B.C.D only
(4) A.B.E only




Feara F f@asdl ¥ fog gdfon e 3w |

A. fEaE 'XYZ' &8y veitfd e e |

B. f@emd 'XYZ' # @u-yEa g |

C. sl 'XYZ' # o S-vel & wid gun g |
D. fEet 'XYZ' 9o ueidid st g |

E. e 'Xy7Z' & veftid s 2 |

T fgu T ot § § 999 SUgEd ST #1999 B0
(1) HIWA, B, C
(2) FFTA SR C
(3) F@B,C.D
(4) F9TA, B, E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218

A person can learn Sanskrit without a teacher :

A. It is not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskrit as it is non-technical subject.

C. Anyone can learn it: as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. Cand D only

(3) A.B and E only

(4) A and D only

HIs fEa a1 5t s F Wi 99 9edl &

A &1 eraoes & Tepa e 9RE TE ) Fife 95 UF gl e T
B. ¥¥hd d-1 9™d 3 Fife 95 U6 TR-ae-id] (999 8 |

C. 58 BT 4 9@ 9591 & F0iE 95 H90 UF YW T |

D i s Fl tm At s s e S S W Esd B
E. g5 &= vy W o) o) oofed & fr wa g

= fgu T fowedl § § 999 SUged ST &1 907 B
(1) T A IRE

(2) B, C IRD

(3) FTAA, B R E

(4) FTAA RD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219




Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

i g FuE Ry &
FY 1 ; et & ugnw &1 ™R $RE 9T % A1 § el o 96l & |
FYT 1 ] ; O SREH @i--Tgu0 Sod B 5§ HY TR § g 9as §

SIRIT Y & S 8, Hd 50 T Ed ¥ 9 99 SUged Sl &1 904 SIag
(1) FUF] AR SH O &

(2) BuF 1 &R I <4 7o ©

(3) ®u] wEl 2, Al wu [ o &

(4) T TOE S, AT wUE 11 TE

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement IT : Government must encourage co-education. as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

42 g w= Rg e &
HY 1 ; geui s Aftansd, 2, & o fren oeagel 2
FUT | : TWER T T5-1061 F1 TdTe &1 9iey wifE 08 2% & faew % O aowms

IRITd TYH & A1TE 1, - U T fowe # 9 969 SUgad Sol &1 99 S
(1) FUF] AR SH O &

(2) Tl R SHE e

(3) ®u] wEl 2, Al wu [ o &

(4) T TOE S AT wUE 1 TE B

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
QBID:15550221

T ; i then the valueof ., 1 s
o X+

x =2

E
(1 =2




(2) =38

3) =1
4) =4
ol | 1 d@ . 1 STAFEm-
x+—==2 X+ —
x x=
(1) =2
(2) =8
3) =1
4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:9.

Reason R : If the surface areas of two cubes are in the ratio §; @ S5, then their volumes are in the ratio  §2# : §2

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

19 21 Y= fAU MU §: U AHMUB YT (Assertion A) & F9 T [IRGd 8 1 TIRT 3TB BRI (Reason R) P Y

SHHY A : A3 &1 G D ST DT SFUIT 3:27 § I 3D IdIe 7B Pl UM 4:9 GHT

BRUIR : TG &1 91 & e ST BT ST S, : 5, 8l 390 AT B U 2 . 527 RN

BRI P & 3Teiiep 4, =i TS 70 fadbeul © I 9gt Fox &1 =0+ Bl |
(1) ASRREA TAE IRR AT TSl A= ©

) ASRRIF I, APTR AT UEI ARAT TR &

(3) AFAE U R AT

(4) ASHAG APARTA S

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are mereased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

i vl Rig 31 3918 SR SMUR B0 &1 U 50% 3R 25% 961 401 91T dl R Mg 3R 74 Xdp & S1ad- &1 391 g -
(1) 8:27

(2) 75:
(3) 32:
(4) 27:

-1
[

=]

1[Option ID=19261]
2[Option ID=19262]




3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

(1)

(2)

e TRIANGLE ¥ 9 Us &R 944 &1 Wigidsar &1 gl

Galth GO W G2l ik e G31 LA G2 GO — = bk

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
QBID:15550225

If one root of quadratic equation 2,2 _3, 1 (2g+1) = 0is five times the other then the value of k is :

3
1) —
16

(2) -

3) -

oo | alw

3
@ -
8
ST WS 9,2 3, 4 (9pc 4 1) =0 F1 TP H G &1 914 1 & &l k P1 A 521 G0 2
3

(1) —
16

(2) -

3) -

o | al""d

3
(4) -
g

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:1214541

Monophthong is a term used :
(1) in the syntactic classification of verbs
(2) in the morphological classification of nouns

(3) i the semantic classification of words
(4) m the phonetics classification of vowels

THEF UF U § forde W ol &




1) frmnst ¥ amueare T8 Tt §
(2) Tt F TumaEs e §
(3) gl & 1Y it &

(4) =Rt & WP Tiem J

1[Option ID=18901]
2[Option ID=18902]
3[Option ID=18903]
4[Option ID=18904]

Sl. No.27
QBID:1214542

The English sentence 'T will go if you come' is a :
(1) Declarative Sentence
(2) Interrogative sentence
(3) Conditional sentence
4) Exclamatcny sentence

el 1 a1ed 'T will go if you come' §
1) s Héwe g

(2) U YyaEs g

(3) UF WCgES aeq

(4) & [GwTiieays a

1[Option ID=18945]
2[Option ID=18946]
3[Option ID=18947]
4[Option ID=18948]

Sl. No.28
QBID:1214543

Linguistics primarily deals with -
(1) Human struggle

(2) Spoken language

(3) Animal language

(4) Economic affairs

YT Here: Sey W@ g ;

(1) A e

(2) #AifEs Ho ¥

(3) uped #f Hw

(4) snfife A

1[Option ID=18989]
2[Option ID=18990]
3[Option ID=18991]
4[Option ID=18992]

Sl. No.29
QBID:1214544

The phrase 'a strangely song' is ungrammatical because :
(1) It is a nominal category

(2) It is an adjectival category

(3) Itis an adverbial category

(4) It is verbal category

'A strangely song' ITFIRT ATHIE & Fffes

(1) T TF WS BT

(2) e UF fogmm =1 3

(3) T Us fpafasvoes Sife 3

(4) 7 U= frardadl & 7

1[Option ID=19033]
2[Option ID=19034]




3[Option ID=19035]
4[Option ID=19036]

Sl. No.30
QBID:1214545

A person who speaks three or more languages is known as a
(1) bilingual

(2) monolingual

(3) multilingual

(4) homo-lingual

w1 =faa o a1 oud Sifie YT S & 99 HE W B

(1) fgurdt

(2) THHH

(3) Tl

(4) FHHTH

1[Option ID=19077]
2[Option ID=19078]
3[Option ID=19079]
4[Option ID=19080]

Sl. No.31
QBID:1214546

Which NIA (New Indo Aryan) language has the strongest tone development system ?
(1) Punjabi

(2) Konkani

(3) Oriya

(4) Bangla

T B U TALAEL. ([ TS M) Wl H vaes aF-Aee e g

(1) oot

(2) wimul

(3) SfE

(4) i

1[Option ID=19121]
2[Option ID=19122]
3[Option ID=19123]
4[Option ID=19124]

Sl. No.32
QBID:1214547

The word 'Cats' is a

(1) Simple word

(2) Compound word
(3) Complex word

(4) Free word

"Cats' M5 &

(1) 9HE T

(2) g W

(3) iy =g (WleT el
(4) TTF W=

1[Option ID=19165]
2[Option ID=19166]
3[Option ID=19167]
4[Option ID=19168]

Sl. No.33
QBID:1214548

Structure dependency is a property of
(1) Machine language
(2) Human language

(3) Ammal language




(4) Extra-terrestrial language
AT S1SRIET e §

(1) TF-ymE #

(2) HHET-HE F1

(3) TE-HIE H

(4) affafed =Uelg umm =1
1[Option ID=19193]

2[Option ID=19194]

3[Option ID=19195]
4[Option ID=19196]

Sl. No.34
QBID:1214549

Preposition stranding is considered ungrammatical by
(1) The Traditional Grammer

(2) The Structuralist School

(3) The Generative School

(4) Language Typologists

Vi SaRIe 1 SeaTHRuia FH S € ;
(1) TWRFR SE0 F 5

(2) TEAEE AHA B G

(3) UuE HH F GRI

(4) YT FETeTTS] & gl

1[Option ID=19197]

2[Option ID=19198]

3[Option ID=19199]
4[Option ID=19200]

Sl. No.35
QBID:12145410

A process of regularization which affects the exceptional forms in the grammar of a language is called
(1) Regularization

(2) Reduplication

(3) Analogy

(4) Suppletion

Frafifae 1wl o wew # smardl w9 1 7HIET S 8 9 Fe I §

1) s

(2) =l

(3) IE=

4) T

1[Option ID=18905]
2[Option ID=18906]
3[Option ID=18907]
4[Option ID=18908]

Sl. No.36
QBID:12145411

How many syllables does the word "Clarification” have ?
(1) 3 (Three)

(2) 4 (Four)

(3) 5 (Five)

(4) 6 (5x)

'Clarification’ ¥1e # fFa 3R &2

1) &=
(2) 91
(3) df=
(4) ®%

1[Option ID=18909]




2[Option ID=18910]
3[Option ID=18911]
4[Option ID=18912]

Sl. No.37
QBID:12145412

As per the 2011 Census Report India has :
(1) 121 Languages

(2) 122 Languages

(3) 123 Languages

(4) 124 Languages

2011 B TAUAT & SER YRa § YW E
(1) 121 o

(2) 122 HmETg

(3) 123 M

(4) 124 HTd

1[Option ID=18913]
2[Option ID=18914]
3[Option ID=18915]
4[Option ID=18916]

Sl. No.38
QBID:12145413

Tdentify the missing element of the second pair Riya : Dance : : Amar :

(1) Sleep

2) Cry

(3) Arrive

(4) Run

Teeiia oS & g "1 &1 g &1

Riya : Dance :: Amar
(1) Sleep

(2) Cry

(3) Arrive

(4) Run

1[Option ID=18917]
2[Option ID=18918]
3[Option ID=18919]
4[Option ID=18920]

Sl. No.39
QBID:12145414

The sentence 'The children annoyed their toys' is ungrammatical because
(1) The object is plural

(2) The subject is plural

(3) The object is inanimate

(4) The object is animate

"The children annoyed their toys' I SEIHT § TS :

(1) sHEgTaE

(2) =di sgEEE

(3) T s 2

(4) = mita® &

1[Option ID=18921]
2[Option ID=18922]
3[Option ID=18923]
4[Option ID=18924]

Sl. No.40
QBID:12145415

The concept of 'India as a linguistic Area’ was proposed by




(1) M.B. Emeneau
(2) William Jones
(3) Jean Aitchison
(4) Colin P. Masicr
'India as a linguistic arca’ ! §FHea1 Hfawrfad 1 715 .
(1) =9 i gAfaae
(2) fafer S

(3) form wivH

(4) =ife 0. Afa®
1[Option ID=18925]
2[Option ID=18926]

3[Option ID=18927]
4[Option ID=18928]

Sl. No.41
QBID:12145416

'Sadri’ language belongs to :
(1) Dravidian

(2) Austro - Asiatic
(3) Tibeto - Burman
(4) Indo - Aryan
G W7 BT HEY
(1) sfasd

(2) sEmes §
(3) TEEa-=Ald

(4) yRdE-3mM
1[Option ID=18929]
2[Option ID=18930]

3[Option ID=18931]
4[Option ID=18932]

Sl. No.42
QBID:12145417

TIdentify the odd one out
(1) Dancer

(2) Mover

(3) Actor

(4) Finger

TafateEg 7 &en <1 oga9
(1) 7a% (Dancer)

(2) w@e® (Mover)

(3) AT (Actor)

(4) I (F inger)
1[Option ID=18933]
2[Option ID=18934]

3[Option ID=18935]
4[Option ID=18936]

Sl. No.43
QBID:12145418

Which of the following words do not contain consonant clusters ?
(1) Seripts

(2) Component

(3) Historical

(4) Corrupt

oo we § $19 3§ e # o-TS T8l 6

(1) T8FT=H (Scripts)

(2) FHUAT (Component)




(3) RER=T (Historical)
(4) F (Corrupt)

1[Option ID=18937]
2[Option ID=18938]
3[Option ID=18939]
4[Option ID=18940]

Sl. No.44
QBID:12145419

Which of the following is not an Acronym ?
(1) NATO

(2) MOTHER TONGUE

(3) ASCII

(4) NASA

Fafefen # o= ufyed wes 78 @
(1) e (NATO)

(2) #ER-#T (MOTHER TONGUE)
(3) TTEdlegaTE (ASCII)

(4) T (NSAS)

1[Option ID=18941]

2[Option ID=18942]

3[Option ID=18943]
4[Option ID=18944]

Sl. No.45
QBID:12145420

What is the case of the object ?
(1) Instrumental case

(2) Nominative case

(3) Accusative case

(4) Genitive case

FH &1 HRS 341 81dl o7

(1) &0 FHEE

(2) & oRE

(3) FH FRF

(4) I9Y FRF

1[Option ID=18949]
2[Option ID=18950]
3[Option ID=18951]
4[Option ID=18952]

Sl. No.46
QBID:12145421

The synonym of the word "Jolly" is -
(1) Bad

(2) Very happy

(3) Bitter

(4) Wicked

Tolly' ¥eg &1 SHIYF Wk ©
(1) Bad

(2) Verry happy

(3) Bitter

(4) Wicked

1[Option ID=18953]

2[Option ID=18954]

3[Option ID=18955]
4[Option ID=18956]

Sl. No.47
QBID:12145422

The word "Chahal-Pahal” is an example of -




(1) Sandhi

(2) Partial Re-duplication
(3) Simple Compound
(4) Onomatopoeia

e FEU-UeT FSTEA &
(1) iy

(2) i geiE

(3) HMHG JHE

(4) RTHHE Weg-T=A1

1[Option ID=18957]
2[Option ID=18958]
3[Option ID=18959]
4[Option ID=18960]

Sl. No.48
QBID:12145423

Which one of the following has subject-verb - object as word order ?
(1) Tamil

(2) Hindi

(3) French

(4) Japanese

Frafeea # B4 A W &1 eaHA Bal-Ha-FH o7
(1) afa

(2) Tl

(3)

(4) S

1[Option ID=18961]

2[Option ID=18962]

3[Option ID=18963]
4[Option ID=18964]

Sl. No.49
QBID:12145424

What is the part of speech of the word "Accomplishment” ?
(1) Adjective

(2) Verb

(3) Noun

(4) Adverb

'Accomplishment' TIe% &1 ¥=gHg F1 32
(1) fagmm

(2) f&m

(3) =

(4) frorfamm

1[Option ID=18965]

2[Option ID=18966]

3[Option ID=18967]
4[Option ID=18968]

Sl. No.50
QBID:12145425

Glotlalic eggressive sounds are known as -
(1) Implosives

(2) Clicks

(3) Ejectives

(4) Whisper

yEE MR W@ #1 &6 9 © -

(1) 3ig: Tpiel

(2) fo®

(3) fefewra




(4) PUPHRES

1[Option ID=18969]
2[Option ID=18970]
3[Option ID=18971]
4[Option ID=18972]

Sl. No.51
QBID:12145426

The term 'Sandhi' which means 'joining’ comes from which language ?
(1) Latin

(2) Sanskrit

(3) Spanish

(4) Zulu

weg, 1Y forep1 s gl & iy e v 31 % -
(1) @fem

(2) FFd

(3) =

(4) 19

1[Option ID=18973]

2[Option ID=18974]

3[Option ID=18975]
4[Option ID=18976]

Sl. No.52
QBID:12145427

Temidiya is a language spoken in
(1) Tamil Nadu

(2) Andaman Nicobar Islands
(3) Nagaland

(4) Arunachal Pradesh
At ym Sl o @

(1) dfFeETg

(2) 2isAM FeEr g a9g

(3) ArFTds

(4) FFEUTET USW

1[Option ID=18977]

2[Option ID=18978]

3[Option ID=18979]
4[Option ID=18980]

Sl. No.53
QBID:12145428

What cannot be potential evidence for a forensic linguist ?
(1) A voice message

(2) An email

(3) Fingerprints

(4) A handwritten note

& S HINEIE & 7 SHIoT T #9161 9ol 87
(1) aifees dem

(2) 7w

(3) sh[cfem™

(4) wEfelEs fageo

1[Option ID=18981]
2[Option ID=18982]
3[Option ID=18983]
4[Option ID=18984]

Sl. No.54
QBID:12145429

The book "The principles of linguistic change" was written by
(1) William Labor




(2) Thomas Kuhn

(3) Lisa Green

(4) John Rickford

Te TRy sffe Rifafes < gxie feas grr forgt
(1) Rt =

(2) oiF" B

(3) femn 9

(4) w7 fFwe

1[Option ID=18985]

2[Option ID=18986]

3[Option ID=18987]
4[Option ID=18988]

Sl. No.55
QBID:12145430

"Total vs restricted translation” relates to -
(1) Ranks

(2) Extents

(3) Levels

(4) Order

quf =T i sgare e 2
(1) g

(2) I

(3) ®R

(4) ®H

1[Option ID=18993]

2[Option ID=18994]

3[Option ID=18995]
4[Option ID=18996]

Sl. No.56
QBID:12145431

The sentence 'The cricket team from our city won the series agam'. Implies :
(1) The team was a winner many times in the past

(2) The team was a winner at least once in the past

(3) The team was the winner every single time in the past

(4) The team had never been a winner in the past

"The cricket team from our city won the series again' a1e &1 fAfgar § .

(1) THRI &0 WS § Sgd AR & o

(2) AR <O WS | $5-4-%H U 917 &uldr uT|

(3) THNI 50 WIS | 5 UF 9Hg foidr Ul

(4) AR <o WS | S i fawrar &1 i

1[Option ID=18997]
2[Option ID=18998]
3[Option ID=18999]
4[Option ID=19000]

Sl. No.57
QBID:12145432

The tests that are designed to measure people's ability in a language regardless of any training, are -
(1) Diagnostic Tests

(2) Achievement Tests

(3) Prognostic Tests

(4) Proficiency Tests

a5 T&0T S HT H A & a1 A R A e aftige 598 9§ see

(1) i g

(2) riware afam

(3) aTgAE uftem




(4) fagure gfvam

1[Option ID=19001]
2[Option ID=19002]
3[Option ID=19003]
4[Option ID=19004]

Sl. No.58
QBID:12145433

The word 'cut throat' in English is a/an
(1) Endocentric

(2) Exocentric

(3) Copulative

(4) Simple

'Cutthroat' ¥Teg o ymar & TAEE

(1) 3 g

(2) dfe: Hfga

3) @&

(4) SHTHE
1[Option ID=19005]
2[Option ID=19006]

3[Option ID=19007]
4[Option ID=19008]

compound

Sl. No.59
QBID:12145434

In English sentence, 'T wondered if he had gone', words "if’ can be interpreted as

(1) an interrogative element
(2) a declarative element
(3) a possessive element

(4) an ambiguous element

37T a1 'T wondered if he had gone' & 'if' F1 TITEN B & ¥Fd & :

(1) wyEEs 3 & w9 H
(2) s sfm&s =
(3) wHEuaE® iE & =9 H
(4) oFFrE oM F = H
1[Option ID=19009]
2[Option ID=19010]

3[Option ID=19011]
4[Option ID=19012]

Sl. No.60
QBID:12145435

The /d/ sound in the English word [den] is -
(1) Voiced alveolar stop

(2) Voiceless alveolar stop

(3) Voiceless alveolar fricative

(4) Voiced alveolar fricative

ST weg [den] & /d/ @ # -

(1) wary g el

(2) 39 T Tl

(3) g Twd Tt

(4) wary g T

1[Option ID=19013]
2[Option ID=19014]
3[Option ID=19015]
4[Option ID=19016]

Sl. No.61
QBID:12145436

A sentence which can not be true by virtue of its form and meaning is termed as -

(1) Contrary




(2) Contradiction

(3) Contrast

(4) Falsification

a1 aTE o A Sl SR onf & 99 W T 8§ ghal 99 S ol §
1) faodarfs

(2) TET

(3) Fwvm

(4) HTUTEHIT

1[Option ID=19017]

2[Option ID=19018]

3[Option ID=19019]
4[Option ID=19020]

Sl. No.62
QBID:12145437

Which of the following languages has a "singular - dual - pheral" number system ?
(1) Bugun

(2) Mhar

(3) Mizo

(4) Hindi

Fofafaa #§ w19 9@ v # teo-f-sgee gefa o o 8
(1) TH

(2) ®X

(3) fi=n

(4) R

1[Option ID=19021]

2[Option ID=19022]

3[Option ID=19023]
4[Option ID=19024]

Sl. No.63
QBID:12145438

Theta-role is related to -
(1) Morphological case
(2) Structural case

(3) Inherent case

(4) Non-structural case

fer-yfoe &1 dEy T
(1) AFloos sRE

(2) FEATHE FRE
(3) 3affRd sra

(4) TR_GTIIHE BTRE
1[Option ID=19025]
2[Option ID=19026]

3[Option ID=19027]
4[Option ID=19028]

Sl. No.64
QBID:12145439

What is the voicing of the last sound m the word 'Soup' ?
(1) Voiced

(2) Voiceless

(3) Free Voice

(4) Active Voice

'Soup' W # A @ F1 AriE0 7 87

(1) wdm

(2) 3™

(3) w@ad 9

(4) Fgara




1[Option ID=19029]
2[Option ID=19030]
3[Option ID=19031]
4[Option ID=19032]

Sl. No.65
QBID:12145440

R-expression is an abbreviation for :
(1) Reloading expression

(2) Revolving expression

(3) Reforming expression

(4) Referring expression
RS WY E

(1) TefifEe ey

(2) frarafdn gamma

(3) NopITHT TasiyA

(4) YHHET TT

1[Option ID=19037]
2[Option ID=19038]
3[Option ID=19039]
4[Option ID=19040]

Sl. No.66
QBID:12145441

The options provided are to be arranged in the ascending order, chose the correct - option.
A Phrase Structure (PS) Grammar

B. Immediate Constituent Analysis (IC)

C. Universal Grammar (UG)

D. X-bar theory (UG)

E. Derivative By Phases

Choose the correct answer from the options given below :
1) B_A.D,C.E
) A.B.C.D.E
3) B.A.C.E.D
4) B.A.C.D.E

E. Wiaw1 gl
4 fau o fawent # § T8 9K %1 99 S

1) B_A.D,C.E
) A.B.C.D.E
3) B.A.C.E.D
4) B.A.C.D.E
1[Option ID=19041]
2[Option ID=19042]

3[Option ID=19043]
4[Option ID=19044]

Sl. No.67
QBID:12145442




Arrange the words, phrares into a proper sentence
A. acup of tea

B. we

C. came

D. for

E.in

Choose the correct answer from the options given below :
(1) B.E.C.D. A

(2 B.C.E.D. A

3) DA.B.E.C

4) A.B.C.D.E

@ 78 wred], areiel i Sfaa ae ¥ erafyd =1 -
A. A cup of tea

B. we

C. came

D. for

E.mn

e feu Y fawedt & 9 Wl 9O &1 90 Sl
1) B.E.C.D. A

2 B.C.E.D, A

3) D.A.B.E.C

) A.B.C.D.E

1[Option ID=19045]

2[Option ID=19046]

3[Option ID=19047]
4[Option ID=19048]

Sl. No.68
QBID:12145443

Arrange the words and phases mto a proper sentence
A. long

B. this dog

C. has

D. frizzy
E. hair

Choose the correct answer from the options given below :
1) B.C.A.D. E

2 B.C.E.A.D

3) A.B.C.D.E

(4) B.C.D. A E

@ T =res!, areiEl S Sfed aey # erefd
A long

B. this dog

C. has

D. frizzy

E. hair

== fou T et § S 981 9T &1 900 S ;

(1) B.C.A.D.E
2 B.C.E.A.D




3) A.B.C.D,E
(a) B.C.D. A E

1[Option ID=19049]
2[Option ID=19050]
3[Option ID=19051]
4[Option ID=19052]

Sl. No.69
QBID:12145444

Arrange the words, phases in to a proper sentence
A gend it

B. once

C. the books

D. arrive

E. to me

Choose the correct answer from the options given below :
1) B.C.E.A.D

2) B.C.D. A E

3) A.B.C.D.E

(a) A,B.D.E.C

o T wea], Tl S SR g ¥ oEtiid S
A gend it

B. once

C. the books

D. arrive

E. to me

At feu M fawed! & & 9t S @1 994 i
1) B.C.E.A.D
2) B.C.D. A E
3) A.B.C.D.E
(4) A,B.D,E.C
1[Option ID=19053]
2[Option ID=19054]

3[Option ID=19055]
4[Option ID=19056]

Sl. No.70
QBID:12145445

Arrange the prefix and suffixes in the right order. choose the correct option given below
A. -able

B. do

C. -ity

D. un-

Choose the correct answer from the options given below :
1) B.A.D.C
2) B.D.C. A
3) A.B.D.C
4) A.B.C.D




a2 T8 Suen 3R Uy #1 uel BA H ey =, T 20w el § © 98 fowes = wma s
A able
B. do

C. -ity
D. un-

e feu my fawed! & § 92t ST @1 994 S
1) B.A.D,.C

2) B.D.C. A

3) A.B.D.C

4) A.B.C.D

1[Option ID=19057]

2[Option ID=19058]

3[Option ID=19059]
4[Option ID=19060]

Sl. No.71
QBID:12145446

Arrange the phases and words to form a grammatical sentence
A. the student

B. was

C. the speech

D. by

E. deliversd

Choose the correct answer from the options given below :
1) CCE.D.AB

) A.B.C.D.E

3) C.B.E.D. A

(4) C.B.D.A.E

U% SIHURTd a1ed &1 i &3 2 a8 1 arenie ok wedf &t sgafiud 4
A the student

B. was

C. the speech

D. by

E. delivered

= fou T fAwet § T 981 9O &1 99 S ;

1) CCE.D.AB
) A.B.C.D.E
3) C.B.E.D. A
4) C.B.D.AE
1[Option ID=19061]
2[Option ID=19062]

3[Option ID=19063]
4[Option ID=19064]

Sl. No.72
QBID:12145447




Arrange the words, phases into sentence
A. have

B.to

C. the milk bottles

D. be

E. returned

Choose the correct answer from the options given below :
1) D.E.B.A.C

2) CLA.B.D.E

3) CLA.D.B.E

4) C.E.B.A.D

@ 78 wred], areiell i aTe § ey S

A. have

B. to

C. the milk bottles

D. be

E. returned
= fou U e & ¥ 928 ST &1 994 Sifol

1) D.E.B.A.C
) C.A.B.D.E
3) C.A.D.B.E
@) C.E.B.A.D
1[Option ID=19065]
2[Option ID=19066]

3[Option ID=19067]
4[Option ID=19068]

Sl. No.73
QBID:12145448

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : An infix 1s an affix inserted into the root itself.
Reason R : Infixes are very common i semitic languages like Arabic and Hebrew

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct

(4) A isnot correct but R i correct

F 21 FY= BT 0 § : 0F A (Assertion A) ¥ w9 # faf€d § @ g S9% &R (Reason R) & ¥4 &
HHBUA A ; HUONEd U6 T & o Howies | fafta foar o 2

HRU R ; A 4G O oRe ok Ry, # wuvay aga 9w g

T FYF & HdS 4, A4 fon T Geed! # 9 981 3¢ &1 99 Sif

(1) A IRR AT § R R, A ¥ 98 = B

(2) A SRR EETHE AT R, A #1 9 aren T E
(3) ATEE AP R T AE &

(4) AvETEZ AfETR R

1[Option ID=19069]
2[Option ID=19070]
3[Option ID=19071]
4[Option ID=19072]

Sl. No.74
QBID:12145449




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Chinese is an example of an analytic language. i.e. a language where cach morpheme tends to occur as a word in isolation.
Reason R : Latin is a good example of an inflecting language. Words usually consist of several morphemes.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

F S Fy= AU 0 2 ; 0F AfHFUA (Assertion A) F w9 # faf@d § O g S9F SR (Reason R) & ¥4 &

HHFYT A« TSl [TTTEE YT 1 UF S &, St i1 YT feH seoe =W 9o | 0 oW T $ S A B Bl
RO R : tife FYET 0am YT =1 U6 2T SCE0 &l SYRUG: el § aHe BE B 2

IRIEd BUA & e 8, 7 2y 7y Heel # § 98 SO &1 907 S ;

(1) ASRREFTEEMRR, AT 96 TR

(2) A SRR EETHE afFT R, A &1 a9l aren T8 &
(3) AT E AET R 98 T &

(4) ASEI S dfEAR T T

1[Option ID=19073]
2[Option ID=19074]
3[Option ID=19075]
4[Option ID=19076]

Sl. No.75
QBID:12145450

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The sentence "The Pizza was too hot to dance is not sensible.
Reason R : Pizzas can't be danced. they can only be cried.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) Ais true but R is false

(4) Ais false but R is true

F% & FY= BT U TF A (Assertion A) F w9 # faf€d § @ g S9% &R (Reason R) F F9 7
3@ A : "The pizza was too hot to dance" a157 3f&d 78 ¢

SR R ; fio &1 79w 78 o1 9o, 39 [k wam o g6 g

TG YA & A 8, A 6 U Owe! § § 951 9t &1 99 S

(1) ASRREAT I TR AF Tl e &

(2) A SRR EHE 96 € @A R, A 9 981 wren 6
(3) AGEE AP R v T 7

(4) AVETEE AfFTREER

1[Option ID=19081]
2[Option ID=19082]
3[Option ID=19083]
4[Option ID=19084]

Sl. No.76
QBID:12145451




Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : The metalinguistic knowledge that children learn in school is the terminology for grammatical concepts and rules for
pattern-based constructions.

Reason R : The termimology and rules help learners talk about grammar m the same way that knowing cooking terms helps someone
learn to cook.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

#1931 Fu U T B : & fUFYUA (Assertion A) F 0 H fif@d § a1 g9 I9& $RU (Reason R) & ®9 &

Sfi@eE A ; o A o= o Al 317 hd € O dshoas aeaE & o s el SR e g E

PR R : Fherq 3R fom fenfifl sl aoem s s g aa s § i 94Ul USR Aeg 344 & (99 B UIE-Uihal & Teaf &1 711 oied 31 A Uie-
foefor & ®ean 2

THIE $Y F A §, 31 2 T fTeai 7§ § T8 S % 900 S ;

(1) ANRRIFEITHEIRR AF adamem §

(2) ASRRGHA 981 & AT R, A 91 98 @ T8l
(3) A G2 dfFR W T2

(4) A W 8 E dfeA R W R

1[Option ID=19085]
2[Option ID=19086]
3[Option ID=19087]
4[Option ID=19088]

Sl. No.77
QBID:12145452

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The sentence "Abhijeet used to run daily” also conveys that Abhijeet is not running daily any longer.
Reason R : Presuppositions signal information that the speaker takes for granted.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) Ais true but R is false

(4) Ais false but R is true

F 2 FY= BT U § : 0F AERE (Assertion A) ¥ w9 # faf€d § @ g0 S9% &R0 (Reason R) & ¥4 &
3f@YF A : "Abhijeet used to run daily"” 1 F1 M@ T% i g1 & & oifinla o@ wfafes 981 S &l
HRO R : AT T G5 F1 S Sd1 & o8 aed geerdre AT B

T FYF & HES 4, A fon Ty Gee! # 9 981 3¢ &1 99 Sif

(1) A IRR AT § R R, A ¥ 98 = B

(2) A JRREFITEE afET R, A ¥ w8 wrem T
(3) ATEE AP R T AF &

4 AwEiTEig aFAREE R

1[Option ID=19089]
2[Option ID=19090]
3[Option ID=19091]
4[Option ID=19092]

Sl. No.78
QBID:12145453




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : In the lexical phonology and morphology model. lexical rules are cyclic.
Reason R : This means that phonological rules are coupled with morphological rules found at the same stratum in the lexicon.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) Ais false but R is true

F S Fy= AU 0 2 ; 0F AfHFUA (Assertion A) F w9 # faf@d § @ g1 99F SR (Reason R) F ¥4 &

HfET A : Wit Wiaalee R Tuieaa viaey # miss w991 89 2

PR R : 3961 died 7% & o wmiaeay & fom wufeas & foat § 96T 510 € 9K Tce ™ § U6 99 TS ) 9% 9oud &Il 2
IRIEd BYA & e §, 34 2 7y Hedl § § 98 SO &1 907 S ;

(1) A JRREF 9UE ARR, A 1 w6 e

(2) ARREETEE dfFT R, A ¥ T8 orem T ®
(3) ATHIE AR TS T &

(4) ASEI S afEA R wEI 8

1[Option ID=19093]
2[Option ID=19094]
3[Option ID=19095]
4[Option ID=19096]

Sl. No.79
QBID:12145454

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Procedural knowledge comes from implict learning.

Reason R : It is knowing how to do something that can not necessarily be explained i words like cooling, playing a musical instrument.
or speaking.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) A istrue but R is false

(4) A s false but R is true

+i9 1 FyH RU T | : tF P (Assertion A) ¥ 0 ¥ fif&d § @ g9 38 $RU (Reason R)  ®9 &

HHUT A ; USETES T Sdied WRIE G S 2

BRI R : 5861 AW 9 T4 9 T 511 & fA9a! 59 Howgs 9 9 oI el o1 96 o [ Oie- fEi, areE-ares O S|
I B & HEE §, 7 o U el § § 98 3 %1 999 Sig ;

(1) A SRR IFET 98 E SRR, A &1 98 oorem

(2) A JRREHE T dfFT R, A ¥ 98 oarem € 7
(3) AWEIZ AR v A &

(4) AWE e dET R TR

1[Option ID=19097]
2[Option ID=19098]
3[Option ID=19099]
4[Option ID=19100]

Sl. No.80
QBID:12145455

Given below are two statements :
Statement I : Morpheme is the smallest grammatical. meaningful unit of a language.
Statement IT : Morpheme is that linguistic unit which exists either as word or a constituent of a word.

In the light of the above statements, choose the most appropriate answer from the options given below




(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT is false
(4) Statement I is false but Statement I is true
TR sEfRimE:

FYF | : TIOH U T YeATH g, Td® 55 2

FUA [1 ; TUH T8 HHE 3575 & ol T1 d UF Teg & &0 § t&dl & 41 Teg, & U2® & &0 & &al 21
IJURIed B & a8, 9 fou o et § 9 98 99 &1 9u- sifer

(1) YT ] AR EHf 93 §
(2) ®YF 1 R 11 eFf od &
(3) Y] Fd &, Wi SYA I 39 &
(4) P I AFTFH TT 2

1[Option ID=19101]
2[Option ID=19102]
3[Option ID=19103]
4[Option ID=19104]

Sl. No.81
QBID:12145456

Given below are two statements :
Statement I : The constituents of a sentence mean all parts that contribute i producing the meaning.
Statement IT : A sentence is the smallest grammatical unit that gives a complete sense.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement IT is true

TR RIS

FU ] I F 9°H & A & 3 T o o ol Seares F yfEeT fue €
T 11 : T YEAH TR SETs © ol gut o ver &t gl

IR FYA & TS 8, H 6 T BFel § 9 951 9T &1 99 S ;

(1) BRI S 9 &
(2) =y ] R [1 G @ &
(3) =] v e dfeT w1 s &
(4) TE] WO e U A I 90 &

1[Option ID=19105]
2[Option ID=19106]
3[Option ID=19107]
4[Option ID=19108]

Sl. No.82
QBID:12145457

Given below are two statements :
Statement I : Classical Tamil and Modern Tamil have identical grammar.
Statement II : Middle Marathi and old Marathi are unrelated to each other

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

TR T RTmME:

FYA [ - 400 ([EE) b R ey afte &1 e aree B

HUA [1 : FEETdH ANdl SR Ui 7ol U ger § i B

SR FYE & e §, A9 i o e 9 999 sugs oW w1 9w eI

(1) ByF] SR 11 SF1 et &




(2) T AR eH Toa &
(3) U] TE & A FUF I Tod &
(4) T ] Toa s ST HuE 11 98 &

1[Option ID=19109]
2[Option ID=19110]
3[Option ID=19111]
4[Option ID=19112]

Sl. No.83
QBID:12145458

Given below are two statements :
Statement I : The most important feature of language 1s that it serves the communication needs of mankind.
Statement IT : Language does not function according to certain set of rules of rules.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement II is true

TR e Rty

FYA ] ; U F TG99 gpadu [9Rval 08 & % 75 Araens F SHiRE samgsars B 9 #3T )
&Y 11 : W $o MG FEal & ofgur T8l 9ol 8

IR YA & AT 8, A 6 T GFedl § 9 951 St &1 99 S ;
(1) FH] AR EH 9T &

(2) FYF] AR 11 Hf e &

B) TN TR dET =A II 9T &

(4) TFET e A FE I ST 8

1[Option ID=19113]
2[Option ID=19114]
3[Option ID=19115]
4[Option ID=19116]

Sl. No.84
QBID:12145459

Given below are two statements :
Statement I : Human languages are complex and intricate. They vary from one another.
Statement IT : Human languages have similar sound system.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

R TERuimE.

HU [ : HFE HIIE Sgd wie 3R afer gt 21 3 us g 9 s gt 2

Fu [1 ; T Wit 31 9HEy a@fy gsi o 2

FWIEd HUA & e H, A fen T iee # 9 999 Suged 9T &1 99 S

(1) wu ] IR 1 EFF et &
(2) TR ARIISH Tad &
(3) HuF1 98 & S o 11 7od &
(4) T ] 7T 3, Afh B 11 981 8

1[Option ID=19117]
2[Option ID=19118]
3[Option ID=19119]
4[Option ID=19120]

Sl. No.85
QBID:12145460




Given below are two statements :
Statement I : The most obvious function of language is to fulfill the communicative needs of mankind.
Statement IT : Language encourages inter and intra-cultural activities and thus. strengthens inter-human relationship.

In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement I is true

i & wu e T E

FUA [ : YT F1 G99 WY F ¢ - A F TUNUTRS AEGFAIA H I H1

HU [1 : HIY Sfaaigpiad SR S iae Sl & WEied Sl 8 3K 59 0¥E 9 Sfaui-da & & Foad a-rd 21
TRIT U & S 8, 96U e fFe § 9 951 9T &1 909 S

(1) YT ] AR eFf 979 B
(2) SYF ] AR eFf 29T &
(3) FYT] 9@ &, Wi SUA 11 39 &
(4) T e AFTFE LTI B

1[Option ID=19125]
2[Option ID=19126]
3[Option ID=19127]
4[Option ID=19128]

Sl. No.86
QBID:12145461

Given below are two statements :
Statement I : In English lexical morphemes are phonologically dependent.
Statement IT : In English functional morphemes are phonologically dependent on lexical morphemes.

In the light of the above statements. choose the correct answer from the options given below
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false
(4) Statement I is false but Statement II is true

EIEEAIC R AL

YT [ ; el F wnfes wim w g g g

FUA 1 - 350 & veias &g mifecs win @ =i 2

IWRIEd FYF & A, A f3u 0 Eecd! § 9 999 Iugad IR &1 994 S ;

(1) @A ] R 11 <=1 wet &
(2) ®UF] IR Hf aa &
(3) HUF ] FEl &, 9ftsa FuF 11 7o &
(4) TYA ] 7o &, T ByA 11 9 @

1[Option ID=19129]
2[Option ID=19130]
3[Option ID=19131]
4[Option ID=19132]

Sl. No.87
QBID:12145462




"The most intelligent student of my class speaks very confidently”. All of these phrases can be seen like -
A. NP - '"The most intelligent student of my class”

B. VP - "Speaks very confidently’

C. Adj. Phrase - Most intelligent’

D. Adv. Phrase - 'Very confidently’

E. Prep. phrase - 'Of my class'

Choose the correct answer from the options given below :
1) A.B.C.D.E

(2) B.C.D,E only

(3) A.B.E,Conly

(4) A.B.C.D only

"The most intelligent student of my class speaks very confidently” 57 91 aTei=ll T &1 o ¥dl & :
A. NP (@ asi®) - 'The most ntelligent student of my class'
B. VP (a1 91eie) - 'Speaks very confidently’

C. Adv. Phrase (fG290 Tregig) - 'most intelligent’

D. Adv. Phrase (far f@=wu areaim) - 'Very confidently'

E. Prep. Phrase (G899 /@0i=) - 'Of my class'

e feu e faweat & § W8 9 &1 90 S

1) A.B.C.D.E

(2) 3B, C.D.E

(3) $TWA.B.E.C

(4) FaUA.B.C.D

1[Option ID=19133]
2[Option ID=19134]
3[Option ID=19135]
4[Option ID=19136]

Sl. No.88
QBID:12145463

Three - term - label of consonental sounds consist of-
A. Position of the vocal cords

B. Manner of articulation

C. Position of the soft-palate

D. Place of articulation

E. Type of teeth

Choose the most appropriate answer from the options given below :
(1) A.Band C only

(2) B. Cand D only

(3) A, BandD only

(4) C.D and E only

wie - wft & Bd daa | sfaffy 7

A, O F1 Rl

B. T=RU - 99

C. ggarg &1 R

D. 3R - |d

E. Sl & 1R
R U U fawedt § § 999 SUged 9o} @1 9099 S0

(1) F@T A, BWC




(2) FE@B.CW@WD
(3) ®aWA. BWED
(4) FaOC. DT E

1[Option ID=19137]
2[Option ID=19138]
3[Option ID=19139]
4[Option ID=19140]

Sl. No.89
QBID:12145464

A vowel can be described m terms of -
A Height of the tonque

B. Part of the tonque

C. Position of the lips

D. Position of the vocal cords

E. Position of the Uvula

Choose the correct answer from the options given below :
(1) A.D.E ounly

(2) B.E only

(3) A, B, C only

(4) B.D.E only

T @1 quie FEiiEd el | o o W §

A. T 31 3o

B. forga &1 afw

C. 38 @1 fRufa

D. uiuaH &1 g

E. sifefea <1 Rfg
= fou e e # ¥ 928 SR &1 994 Sl ;

(1) FTWA,D.E
(2) 3@ B. E

(3) HIWA, B, C
(4) ¥T@B.D.E

1[Option ID=19141]
2[Option ID=19142]
3[Option ID=19143]
4[Option ID=19144]

Sl. No.90
QBID:12145465

Which statements are "descriptive” ?

A. "Do" is used in questions if no other auxiliary is present.
B. "Have" must be used in every question.

C. Don't end sentence with a preposition.

D. Question words occur at the beginning of sentences.

E. Passives should be, avoided

Choose the most appropriate answer from the options given below :
(1) A, B.E only

(2) B.C.D only

(3) A.D only




(4) B.C.D. E only

T B YT auTES &

A. 'Do' &1 3R Wil # &0 o1a1 § oFR $15 gav 9510 Suas T8 o
B. 'Have' &1 SUgF 530 ¥ | sf-adeg & 51 9izgl

C. gdw i & Tt &1 g 78 3

D. SaT®-RIeg aTa & RESd | 1 ¢

E. $Hara &1 9fier g1 9wl

= 13U T el § ¥ 999 SUged 9oR &1 997 S0

(1) 9@ A, B.E
(2) #9@B,C.D
(3) H@WA, D

(4) F@B, C.D.E

1[Option ID=19145]
2[Option ID=19146]
3[Option ID=19147]
4[Option ID=19148]

Sl. No.91
QBID:12145466

Which of the following are true ?

A The languages used by tribal groups in India are understudied.
B. There is only one sign language in the world.

C. The only language spoken in France is French.

D. The only language spoken in Odisha is Odia.

E. Hindi and Punjabi are spoken in Delhi.

Choose the most appropriate answer from the options given below :
(1) B.C.D. E only

(2) A, E only

(3) A.B.C only

(4) D only

e d v &

A. TG S ¥ GRT SUGR S 9 arelt Hiarsf &1 5P W1 as st 8 G w2
B. W fay & A wF Ha w2

C. 9 w9 & aeft 9 At tHaE e 2

D, #ifSar sifgar # sicfl = ol weHE w2

E. &4l 3ix domelt famedt & et ot 5

= 3u T faeedl J ¥ 999 SUged 9ok &1 997 SI9 ;

(1) 30 B, C,D.E
(2) F@W A E

(3) FWA,.B. C
(4) FT@D

1[Option ID=19149]
2[Option ID=19150]
3[Option ID=19151]
4[Option ID=19152]

Sl. No.92
QBID:12145467




Which are not the language families of India ?
A. Indo - Aryan

B. Austro - Asiatic

C. Slavic

D. Dravidian

E. Baltik

Choose the correct answer from the options given below :
(1) Cand D only

(2) A, CandD only

(3) C and E only

(4) A.BandD only

T 1 9 UG # W1 - ufer T8 #

A, YA 3mg

B. sfgmRmies

C. wfas

D. sfds

E. gifces

== Tu o Geeat § § 95 9T &1 900 S

(1) ST C WD
(2) FTWA. CWD
(3) BT CWE
(4) $9TA, BTWD
1[Option ID=19153]
2[Option ID=19154]

3[Option ID=19155]
4[Option ID=19156]

Sl. No.93
QBID:12145468

Which of the following are correct ?

A. Punjab does not have gender contrast (masculine, feminine) in nouns.

B. Indian languages generally use the word meaning "one” where English would use the indefinite article "a".
C. Bengali uses classifiers to convey the meaning of the definite article "the".

D. Hindi does not have classifiers.

E. Tamil has animate / inanimate contrast in nouns.

Choose the correct answer from the options given below :

(1) A only

(2) A.B.C.D only

(3) B.D.E only

(4) B.C.D only

e § $19 9§ $Y4 981 5

A, dost # wan # e dwr gfer, whfEm T8 2

B. YRdR YN §HEE: 'One' W68 WOF $X1 & waid S0l T S(91hE SUaTE 'a' &1 9ar &3l o
C. Furs 3uae & o 31 wed F31 & R Feh avie &1 0ae S 2

D. & & o 38 21

E. afyw # g9 & S99/6Ed 9us 2
e fau 7o el # 9 98 99X 1 90 Sien

(1) Fad A




(2) F9TA.B.C.D
(3) F¥@@B.D.E
(4) ®@@ B, C, D

1[Option ID=19157]
2[Option ID=19158]
3[Option ID=19159]
4[Option ID=19160]

Sl. No.94
QBID:12145469

Match List T with List IT

List I List I
A [Sound 1 |Graphology
B. [Letter II. [Svatax
C. [Word 111 [Phonetics
D [Sentence IV [Morphology

Choose the correct answer from the options given below :
(1) A-II B-II. C-I. D-IV
(2) A-IIL B-I. C-II. D-IV
(3) A-IL B-I. C-IV. D-II
(4) A-L B-IIL C-IV. D-II

il 1 91y G 11 T e Hiforg -

T 1
A [ 1 |aRemfesE
B. |quf GG ERIE]
c. |7=5 IS B GRIE]
D. |aH IV. |&ufagE
e 4T 71U faedil § 9 Ig1 IR &1 90 BTl -

(1) A-II B-II. C-1. D-IV
(2) A-IL B-L C-II. D-IV
(3) A-IIL B-I. C-IV. D-II
(4) A-lL B-III. C-IV. D-II
1[Option ID=19161]
2[Option ID=19162]

3[Option ID=19163]
4[Option ID=19164]

Sl. No.95
QBID:12145470

Match List I with List IT

List I List IT
A |Bovs I |/-®/
B. [Cats 1. [/-1Z/
C. |Boxes 1. |/-S8/
D. (Sheep IV. |/-Z/

Choose the correct answer from the options given below :
(1) A-II B-IV, C-II. D-I
(2) A-IV, B-II, C-II1, D-I
(3) A-IV. B-III. C-1. D-II
(4) A-IV, B-IIL C-II. D-I




=i 19 A1 G 11 DT eI Bifor -

Tt 1 et 11
A |Boys L |-
B. |Cats 1L |1z
C. |Boxes II0L. ||-5]
D. |Sheep v. [z
< f4U U fadenl | I8! 3R &1 98- BIfolu -

(1) A-IIL B-IV. C-I1. D-I
(2) A-IV. B-IL C-III. D-I
(3) A-IV,B-III C-I. D-II
(4) A-IV. B-III. C-I1. D-I
1[Option ID=19169]
2[Option ID=19170]

3[Option ID=19171]
4[Option ID=19172]

Sl. No.96
QBID:12145471

Match List I with List IT

List I List IT
A, [Endocentric I ['m
B. [Exocentric 118 Scarecrow
C. |Clitic M. |Gurls
D |Complex word V. |Classroom

Choose the correct answer from the options given below :
(1) A-IL B-I. C-III. D-IV
(2) A-L B-II. C-IV, D-III
(3) A-IV, B-IL C-I, D-III
(4) A-IV, B-IL. C-1. D-II

el 19 H1Y Gl 11 BT e B -
el 1 ¥ I
A |sfade L |Im
B. E’%%ﬁ?ﬁ II. |Scarecrow
C. |Hdd . |Gurls
D. |dfca 9= IV. |Classroom

= feu U [de el § ¥ 961 3 &1 994 Sl
(1) A-IL B-I, C-III, D-IV

(2) A-L B-IL C-IV, D-II

(3) A-IV, B-IL C-1, D-III

(4) A-IV, B-IIL C-I, D-II

1[Option ID=19173]

2[Option ID=19174]

3[Option ID=19175]
4[Option ID=19176]

Sl. No.97
QBID:12145472




Match List I with List IT

List I List IT
A /p/ - b/ 1 [Fricatives
B. |tl/-/d/ I Nasals
C. 'm/ - /n/ 111 Plosives
D - vl I A ffricates

Choose the correct answer from the options given below :

(1) A-IIL B-IV. C-II. D-I
(2) A-IL B-L. C-II. D-IV
(3) A-L B-IIIL C-IV. D-II
(4) A-IL. B-IV. C-1. D-III

=il 19 H1Y Gl 11 BT e B -

T I et 11

A |p-p T-F I [edf
B. |tll-|def F-F 1L |
C. |m-mn H-A T E |
D. g-v W-F V. [SR-Heh
149 feu 71w faeedl § 4 Fet SR &1 99 B -

(1) A-IIL B-IV, C-II. D-I
(2) A-IL B-I. C-II. D-IV
(3) A-L B-III. C-IV. D-IT
(4) A-IL. B-IV. C-1. D-I1I
1[Option ID=19177]
2[Option ID=19178]

3[Option ID=19179]
4[Option ID=19180]

Sl. No.98
QBID:12145473

Match List I with List IT

List I List IT
A [Khasi [. |Sino - Tibetan
B. [Dogri [I. |Germanic and Rommance
C. |[French [II. ’Mon Khamer
D. [Ladakhi [V. [[ndo - Arvan

Choose the correct answer from the options given below :

(1) A-IL B-III. C-1. D-IV
(2) A-IIL B-IV. C-II. D-I
(3) A-IIL B-IV. C-1. D-II
(4) A-IV. B-III. C-I1. D-II

il 19 91y G 11 1 e Hiforg -
T 1 T 11
A @ 1 |FEfasd
B. [SFH I |[SHHS @i
c. |Bg . |[AF-EmR
D. |cerdt IV [l
=i feu U fosedl § T el 9Tk &1 99 BT ;

(1) A-IL. B-III. C-1. D-IV
(2) A-IL B-IV. C-I1. D-I
(3) A-JIL B-IV, C-I. D-II




(4) A-IV. B-III. C-1. D-IT

1[Option ID=19181]
2[Option ID=19182]
3[Option ID=19183]
4[Option ID=19184]

Sl. No.99
QBID:12145474

Match List T with List IT

List I List IT
A |/ [. |Alveolar
B_ |/ [1. [Velar
C. |t [11. [Bilabial
D. |k [V. [Labio - dental

Choose the correct answer from the options given below :
(1) A-IV, B-IIL C-I. D-II
(2) A-IL B-IV, C-I, D-III
(3) AL B-IV. C-II. D-I
(4) A-IIL B-IV. C-1. D-II

il 19 91y G 11 1 e Hiforg -

TqAT 1 T 1
A b @ I |ad
B. |+ @ I (&g
C. |y @ . |f§-siresy
D |k @ v |Edised

it f4u U fasedl & 9 981 3R &1 94 BIfolU -
(1) A-IV, B-IIL, C-I D-II

(2) A-IL, B-IV. C-I, D-III

(3) A-IIL, B-IV, C-IL, D-I

(4) A-IIL B-IV, C-I, D-II

1[Option ID=19185]

2[Option ID=19186]

3[Option ID=19187]
4[Option ID=19188]

Sl. No.100
QBID:12145475

Match List I with List IT

List I List IT
1A |Ram's book | A blative case
B_ |With knife II. |Commutative case
C. |With Ram III. |Instrumental case
D). |From the tree IV, |Genitive case

Choose the correct answer from the options given below :
(1) A-IL B-IL C-III. D-IV
(2) AL B-IL C-IV. D-I
(3) A-IV. B-IL C-III. D-I
(4) A-IV, B-IIL C-II. D-I
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(1) A-IL B-I. C-III. D-IV
(2) AL B-II. C-IV. D-I
(3) A-IV. B-II. C-II1. D-I
(4) A-IV. B-III. C-II. D-I

1[Option ID=19189]
2[Option ID=19190]
3[Option ID=19191]
4[Option ID=19192]




